
UNIVERSAL TV WALL MOUNT
INSTALLATION MANUAL

WMV8050

page 8

50kg
(110lbs)

RATED

WMV8050 55" 
MAX

100x100 100x200
200x100 200x200
300x200/300x300
400x200/400x400

/
/



2

!

3

page 7page 2

Package content

A (x1) B (x2) C (x1) 

6
M8x16 

M-J
(x4)

M6x16
M-G

(x4)M5x20 
M-D

(x4)

M8x50 
M-L M-M

(x4)
M-N (x8) 

M8 (x4) 

M4x16 
M-A

(x4) M4x20 
M-B

(x4) M5x16 
M-C

(x4) M5x30 
M-E

(x4) M5x35 
M-F

(x4) M6x20
M-H

(x4)

M6x35
M-I

(x4) M8x30
M-K

(x4) 15x16x3
M-O (x4) 
Bolt cap

M6 x 64 (x6)
W-A

M6 x 64 (x6)
W-B

10X50 (x6)
W-C W-D

Allen key



6

or

M-A ...ML (4X)
M-M, M-N (4X)

M-O (4x)

2

page 6

2

Mounting on wood

X
xx

x

x x

x

x x

W-B
6x

W-D

page 3

1a

4mm
ø 

2
 
( ).5"

ø 
1/8”)

60mm

(

1

3

2

X X√

H4

M-M or M-N (4x)

M-A ~ M-L (4x)



70mm
.0"(3. )

ø10mm
( ")  ø3/8 

2

Mounting on concrete or 
breeze block (option 1)

page 4

1b

2

1

xx

x

x

x x

W-B
6x

W-C
6x

W-D X X√

H4

70mm
.0"(3. )

ø14mm
(  ø9/16”)

2

Mounting on concrete or 
breeze block (option 2)

page 5

1c

xx

x

x

x x

W-A
6x

W-D

X X√

H4

2

1


